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1. How many bones found in human skeletal or
body?

Ha SobTel 1 IRR F fbar sfeat uré st &7
(A) 212 (B) 206

(€) 202 (D) 200

2. In human body total bones are
A9 TRR 7 3 sy g

(A) 187 (B) 287
(C) 206 (D) 306

3. How many bones are found in adult human?
IO HIMd H foba! gefedl urs ol 62

(A) 210 (B) 260

(C) 206 (D) 300

4. In human body longest bone is-

(A) Human (B) Spinal cord
(C) Femur (D) Hip bone
AT IRR & T Al g1 Bih o-

(A) 7I™ (B) WIS HRS
(C) BIR (D) BT B TGl

5. In human skeletal Examination is generally
done for-

(A) Brain Power (B) Internal age

(C) Internal height (D) Destensis

A4 Sl URIEM foreas ferd o ST 6-

(A) ARTD e (B) S{TdReh 3G

(C) 3MTAND HaTS (D) &id &1 gH™T

6. How many muscles are found in our body?
gAR TR & fohat Tiaafmt urs S 82

(A) 565 (B) 656

(C) 665 (D) 556

>

7. How many no of skeletal muscle found in our
body?

TR IR # et deprer Uik ot el 2-

(A) 206 (B) 200

(C) 500 (D) 700

8. What is the hard enamel layer of teeth.
(A) Calcium hydro-oxide

(B) Calcium Hydroxyapatite

(C) Calcium oxide

(D) Calcium Phosphate

gidl @1 HoR aF A+ wa F g
(A) HIeRTTH BRSI- RS

(B) PeRIH gISSIaUCTSE

(C) HfeRTH TS

(D) HicRH Bidhe

9. What part of elephant convert in from of
elephant teeth?

(A) Internal Teeth

(B) Posterior Teeth

(C) Secondary Teeth

(D) Jaw

BTt T BI-1 YT BTl & &id B uikafld gar 87
(A) 3fiaRe gid

(B) U Gl

(C) HIEATHS Gid

(D) Sl ST

10. The average weight of human brain
aboutHTd ARTSH & 3MId a5 & dR A-

(A) 1.64 kg (B) 1.36 kg

(C) 1.46 kg (D) 1.63 kg




11. Which are contractile protein in any muscle-
(A) Actin and Myosin

(B) Actin and Tropomyosin

(C) Myosin and Troponin

(D) Troponin and Tropomyosin

O=ft 1 Tpfad F- arer W FHeard o-
(A) Tfde 3R AR

(B) Tfde 3R SaAmfRA

(C) ATRA 3R S

(D) TN 3R AR

12. In which of following muscular organism do
not have Exo-Skeleton-

(A) Amphibians (B) Mammalia

(C) Aves (D) Chondrichthyes
9 ¥ ¥ food U=l S § 9189 hobTd A8l gidl
8-

(A) SHIR (B) TR

() el (D) PIgIbIECH

13. Which of the following have maximum no.
of ribs-

(A) Crocodile (B) Snake

(C) Ray Rich (D) Flying Mammals
9 7 ¥ foud qed S1e] S9! 91 Sf1d 6-
(A) TTRADS (B) 1T

(©) X-Topy (D) ISTRITeT TR

14. Wisdom molar is-
(A) First molar

(C) Third molar
EIEACES

(A) UYH Tquics

(C) T Tqvie

(B) Second Molar
(D) Forth molar

OYESIREZECIED
OEREENED

15. Osteocyte found in-

(A) Bone (B) Blood
(C) Cartelage (D) Lymph
fifeearaTge fore urar -

(W) TS (B) e
(C) TRy (D) T

16. The transverse colon is part of-
(A) Large intestine

(B) llium

(C) Small intestine

(D) Anus

IV geaT fhaaT e -

(A) ST 3t

(B) Sferam

(€) B 3@

(D) T&T

17. The Occipital is region which is found in-
(A) Ear (B) Lungs

(C) Macula (D) Skull

Sirfifiree & T STl & -

(A) P (B) hhe

(C) Hogg (D) WAt

18. Bones are pneumatic in-

(A) Fishes (B) Amphibians
(C) Reptiles (D) Birds
fra! gfSsat argfae gt 3-

(A) HSTer (B) SHITR

(C) T (D) Uit

19. What does enamel cover?

(A) Crown of the tooth

(B) Dentin on all sides

(C) Cementum

(D) Cementum and partly dentin
AT T HAR BT 62

(A) GId BT JPHe

(B) <1 T YUl HIT

(C) TcH

(D) T 3R 3w ®u J 3feA

20. The total number of vertebrae in a human being
is-

TS UM | HRTBISN B H TS 6-

(A) 26 (B) 30

@29 (D) 33




21.In human body, the longest bone is in the-
(A) Vertebral column

(B) Thigh

(C) Rib cage

(D) Arm

AT IRR H, I A&l g1 il o-

(A) PRISH WY

(B) ST

) Ra fUsR

(D) YT

22. Which of these joints is a hinge joint?
(A) Hip (B) Elbow
(C) Shoulder (D) Wrist

g oSl # A B I T BTl GG 27
(A fea (B) PI&I
(DEIE

(C) T

23. Which of the following is the hardest
substance in the human body?

(A) Bone (B) Enamel

(C) Dentine (D) Nail

A4 IRR H 98 HAR vard FHafafed 3 3 o
1 g2

(A) B! (B) 3Hd

(C) & (D) T

24. The strongest bone of the body is present in
the-

(A) Thigh (B) Jaw

(©) Arm (D) Neck

IRR Pt Y Aoigd g3! fbad Hig gl 8-

(A) ST (B) Sl ST

(C) Yol (D) TRad

25. An adult human normally has-

T 9g%b Ha B AR T I 8ldl 2-
(A) 6 molar Teeth

(B) 8 molar Teeth

(C) 10 molar Teeth

(D) 12 molar Teeth

26. The connective tissue that connects a muscle
to a bone is:

(A) Cartilage (B) Ligament

(C) Tendon (D) Interstitial fluid

IS S S T U=l Bl 59! ¥ el &;
(A) SUTRY (B) fermde

(C) ¢&1 (D) SR &d

27. How many types of teeth are there in
humans?

A7t ¥ fbe TR & <7 81d 87

(A) 4 (B) 5

2 (D) 3

28. Our bones are teeth are generally made of
(A) Tricalcium phosphate

(B) Fluoropetite

(C) Chloropetite

(D) Hydrolith

TAN gTEal 3id & off SR W ¥ & &8I §
(A) TTS HieRaq Bt

(B) TWIRIUeTSE

(C) IR

(D) BTy

29. Sweat glands in mammals are primarily
corned with-

(A) Removal of excess salts

(B) Excretion of nitrogenous wastes
(C) Thermoregulation

(D) Sex-attraction

TeTRal & e R 1 e Bl B-
(A) SifaRed Taur &1 ger

(B) ATSCISH AR B Sedoi

(C) YHTRTRIRHA

(D) Vg ATH YT

30. Weight of our body is mostly made of
(b) Parts of body
(c) Parts of skin (d) From water

AR YRR BT IO SATSTR §9dT1 &
(a) BgAT ¥ (b) TRR P AT
(c) &1 B HIT CRIGIE:

(a) From bones




31. Human body contains

T IRR H g 2

(a) about 70% water

(b) 20%-30% water

(c) 10%-20% water

(d) 30%40% water

(e) None of the above/More than one of the
above

32. The percentage of water in an adult human
body is around

U J%b HMd TRIR | T T UfT=Id TR+ el
g

(a) 10% (b) 30%

(c) 65% (d) 75%

33. The most abundant element found in the
human bod vy is-
(@) Iron (b) Sodium

(c) Oxygen (d) lodine

Td YRR T UTaT S 9Tl Fed TR dd ©-
(b) AfSTH
(d) WA

(a) 3MORA
(c) 3T

34. The maximum amount of element found in
human body

(@) lron (b) Sodium

(c) Phosphorus  (d) Calcium

Td IRR H U7 S 97 dcd D1 SHTYHTH T
(a) SR (b) TIfSTH

() BRBRY  (d) Biexmd

35. Which one of the following salts is found in
maximum amount in the human bones?
(a) Magnesium Chloride

(b) Calcium Carbonate

(c) Calcium Phosphate

(d) Sodium Chloride

frafafed & & oF a1 990 aHq sfgal o
SHfYHH AT H UI ST /7

(a) TR FERTZS

(b) HieRIH FHTEHT

(c) PRI WIhe

(d) QIfSTH FARSS

36. In human body, leg bone is?
(a) Hollow (b) Porous
(c) Solid (d) Rivet
THa IR T W B gg 27

(a) @R (b) fevsef
(c) o (d) BraD

37. What is arthroplasty in surgery:
(@) Open heart surgery

(b) Kidney transplant

(c) Hip-joint replacement

(d) Blood transfusion

(a) 31U BTC Toit

(b) fpa-t TRIToT

(c) feu-Sige wfawiTg=
(d) Xad 3T

38. The bones are held together by elastic tissues are
called

(a) Ligaments

(b) Fibrous tissues

(c) Fibrin

(d) Muscular tissues

AHeR SHdd! gRT ggdl &I U 1Y T oITdl §
(a) HTgEY

(b) YR FHlcb

(c) BTSfo

(d) HIGURAT & Seich

39. Plaques formed on teeth are made up of -

(a) Food particles only

(b) Food particles plus saliva

(c) Food particles plus saliva plus mouth acids

(d) Food particles plus saliva plus mouth acids plus
bacteria

il TR o Rt et s A 2 -

(a) W HUT

(b) TTE HUT 3R AR

(c) T HUT 3R AR @Y {3y TRTS

(d) TTEI HUT 3R IR Y HI3Y TS @ dae i




40. No pain is felt while cutting the nails because
(a) Nails are made of the material of dead cells
in which there is no blood circulation.

(b) Nails are a useless part of the body.

(c) Nails are made of calcium phosphate.

(d) None of these.

TG B! Pled THT PIS &8 HeQH el 81T &
Fifa -

(a) TG g PIRAB13N ! IrEh T o4 8d &
fore™ 1S Yo URTaRUT g1 Bl 6|

(b) TGH IRR FT TP IHR e 5|

(c) TRY iRy Biehe I &9 gid g

(d) 3TH Y IS T8l

41. Which of the following are required for the
form bones and teeth?

(a) Sodium and Potassium

(b) lIron an Calcium

(c) Sodium and Calcium

(d) Calcium and Phosphorus

®T gigdl ok aidl & forg Fafeiad & @ fraa!
TGl BIell 82

(a) TIfSTH 3R TielRraw

(b) 3R 3R HieRgH

() S| 3R Hicrray

(d) DPIeRAH 3R BIDIRY

42. Which one of the following nutritional
elements is not for the formation and
strengthening of bones and teeth?

(b) Phosphorus

(c) Fluorine (d) lodine

fafafad & S a1 9o dw sfgal 3R gl
& fmfor 3R ATt & forg et 2

(a) BT (b) BTRBIRY

(c) TR (d) 3MASH

(a) Calcium

43. The number of teeth that are developed
twice in the lifetime of human being is:

A & SIa-o1d 8 &l SR fAHRid g ard giar
Goksnes s

(a) 4 (b) 12

(c) 20 (d) 28

44. Which of the following is the strongest part
of our body?

(a) Bone (b) Enamel

(c) Dentin (d) Cementum

Fafifad & 9 B 91 gUR IR &1 Fa Holgd
few &7

(a) B! (b) T

() Sfe (d) HrdeH

45. The strongest muscle in human body is
found in:
(@) Jaws

(c) Neck

(b) Thighs
(d) Hands

Ha TRR H Jod Aoigd Higusi ot o @
(a) SIS (b) SITer
(c) & (d) BT

46. Match List-1 with List-1l and select the
correct answer using the codes given below the
lists:

- 11 & 1Y TGR- | BT e B 3R et &
4 T TN DS BT IR IR Tl ST :
List-I List-IT

(Bones) (Names)

1. Clavicle

2. Patella

3. Scapula

4 . Sternum 14
1. gl

2. g

3. WpYal

4. %4 14

A. Breastbone
B. Collarbone
C. Knee-cap
D. Shoulder blade
A SEH

B. BIcRa
C. ge-erdt
D. Y i
Code:
ABCD

(a) 4132

(c) 1423

ABCD
(b) 1423
(d) 4123




